PHOFEEEFETRERBEREARE LHRROE SM6EsA258 (H) LEVHRZRY VY7 LHE

BF 100m TRRHEGHE)

[148) (3.0 m) [248] (29 m)
1[ 71140355 ¥ 1 2 (B ) 14.16 10 3] 6297 1 e 1 (hf ) 13. 52
2[ 8] 957k A e w2 O J5)15. 10 20 71 9550 1 w32 (F J50)13. 88
OP[ 6] 826% [k # /& 3 (& fi1)13. 63 3[ 21110675 fE 3 mk 3 (1L %) 13. 95
OP[ 4] 8294 1L ')k 3 (& fi5)13. 96 OP[ 811214 A #ifex 3 (bf ) 14.12
OP[ 3115267 ' 4 3 (A %) 14. 46 [ 4] 827% @2 & &3 (& fIB) KR35
OP[ 5] 4587 '~ == 45 3 (% ) 14.62 [ 511015711 "% iy 3 (1L %) R 15

YAA 2 AF

[ 6] 739% s #h y& 2 (- ) Ri5

(348] ( -3.0 m) (48] (25 m)
10 8111248 & & 17 2 (1 #)12.79 10 4] 5574 1 & & 3 (K B$)12. 27
20 2] 3727 "7 x®3 G B #)13.09 20 51 1043 % 1% =3 (T b5 12. 33
3[ 311640/ A i e 3 CF £ h %)13.15 3[ 7115244 1 e ¢ 3 ) 12. 48
47 611525 = """ j& 3 (A ) 13. 20 41 211650 % 1L 4w #5 2 CF £ h )12, 53
50 7] 620075 wrib 7 2 (b [H)13. 24 50 6] 48955 9% fufs 2 (% {%)12. 54
6[ 5] 5585 W Kk i3 (K #7)13. 46 60 3] 379% B w3 (E A E)12.67
[ 4115287 J= "= 51 3 (1 %) &35 70 8] 460% 7 Wi 3 (I £)12.70
(5#8] ( __—‘3.1 m) ,‘,{gé
1[ 511209 fif }iff HE 343 (b B 11. 47 | 12005 " e o 3 (b 11,47 3.1
206 133646 e k3 (k1210 ) Gaghiit T 712,10 -3.1
3L 4] 802 ”47*‘ o2 (@ Ji)12.12 3 sozmm; 52 (G 18)12.12 -3. 1
40 311205541 fy " e 4 3 (4 1)12.22 4120500 B ue 25 3 (4 B1)12. 22 3. 1
508] 1164 1t k3 (T £i)12. 62 5 5570 B & 3 Ok 512,27 2.5
6L 2] 211pg Il ik f 3 (K H)12. 91 6 104% 75 1% pE 3 (T I%HZ: 33 2.5
LT zAR k2K RS 715245 e g3 On 112, 48 2.5
81650 |1 4 # 2 CF & o %)12.53 -2.5

BF 200m TRHEM34)

(1#81 ¢ 1.0 m) [248] (  -4.4 m)

105111265 g & 39 2 (1L 31%) 26. 31 10 41121611 #4& 883 (b 1) 24. 85

20 4] 515~ & 1= 0 2 (K ) 26. 61 20 611212 30" 5% 3 (b H9) 25. 23

3[ 6] 62145 [ # 42 (hp H1)27. 58 30 51152248 ¢ 5 5 3 (K %) 25. 54

40 7) 760 B ot a1 (£ 1) 28.97 40 71110299 11 4 £ 3 (I 1%)25. 73

5[ 8] 9528 #f gt k2 (FF J5)29. 65 5[ 3115245 'm e 43 (i %) 25. 91

60 1] 6112 11 he o 3 (o H1) 30. 62 60 2] 1495 11"k m2 G B5) 26. 12

70 311656 Kk & 4 % 1 CF & o %)31.84 70 116511 16 =2 CF &5 o %5)27.13

8l 2] 9643 W g2 (h J5)34. 26 [ 8] 222" sk w2 (K ) &5

[3%8] ( —\1.9 m) ",{l_s\é

1[0 3] 5564 & w oF 3 (K 1) 23. 97 e . _

TR SRR TV ATy

3[8) 8020 AT #2 (& B2 g gy ji2)24.53 1.9

AT TR g E2 (L R)24.55 48R 2 (L 1)24.55 -1.9

SLI MSE kg3 GL B028.85 g qqghei® s Gr B5)24.55 1.9

6[ 1] 481 f% 7f< ’E% fﬂ 2 (‘(‘/&\ %)24 97 6 1216[‘]3’6” I %ﬁ 3 GEP %)24 85 _4 4

10 2] 824@;%?3;?% %3 (& JI5) 26. 27 7 481 %@EF - ﬂ? 9 (G %)24: 97 _1: 9
L4l 468w w3 G HRS 812128 5 3 (hb 1)25.23 4.4



BF 400m TRREGHE)

(1#8])

10 5] 95945 A " e 2 (th J51)1:05. 25
2[ 3] 50285 & w2 (K £$)1:07. 37
30 7] 961955 Twy —2 (h JE)1:08. 28
40 4] 630k 0 sk 1 (b ) 1:10. 43

[ 6] 223% F % #2 (K ) Ri5

[ 8] 146% & ' g2 T 15 KR35
(34 -
106] 46811 1 4 3 (% 1£:)52. 60
20 5] 55647 @ 3 (K #7)52. 71
3[ 4115220 J¢ 5y %3 (B %) 53. 61
40 8] 48155 A" i 12 (& 1) 54. 29
5L 7] 2135 w1 % 3 (K 1) 55. 24
60 3] 738F 1 E2 (h IR)55. 31

BF 800m TRiREQMH

o2:) IR
10 3112650 4 722 (#

20 61126376 ¥ w2 (v
3[ 811502 i~ qm2 (&

A7 51 10765 A g k3 (T
507 8208 1 i w3 (&

[ 4] 7557 = Ee o1 (4
146811 1 g w3 (
2 5564 ' sk 3 (K

315224874 " 5 3 (i

4 48135 A w2 (I
5 2130 W By %3 (K
6 738K 1 2 (k
712650 4 z22 (f

UAF Yk

8 12637 i  Hit #g 2 (ff

[248] o
10 3] 9237 jE 5 & 3 (P
BT F

20 411206 )| % B 7 3 (i
3[ 511644 % F "5 =3 (F

avi%

EREP 4

41 6] 5605 " B 3 (K
5[ 9] 6230 52 3¢ 72 2 (f

6[ 8112082 1" He S 3 (b

70100 1514 42 (GC
81 7] 220k 2wy 2 (K
9[11] 726% W — %3 (+
10[ 2115238 A& B s+ 3 (i
10 1] 82255 "1 1 3 (&

AHEL AUy

12[12] 103 A& 2 &3 (JL

Gp Ay 273

9014111381 2 =1 (L
OP[ 1] 613%1 & % 75 3 (i
OP[ 6] 4677 i 45 p= 3 (i
OP[ 9] 1095 4 % sk 3 (T

OP[13] 102fd ¥  #i3 G
OP[10]11226 i "jz # 2 (1L
7 By ¥ b

[ 7]1520 T i @ A 3 (W

o)
104] 736 % m @2 (£ R)2:22.16
2[ 6] 5554 W P w3 (K B7)2:23. 08
30 3115201 % A 3 (i )2:24. 54
41 2] 498[m i g+ 2 (K [)2:25.22
5LO] B4 " A2 (R A $)2:29.18
6[ 5] 909F %€ & s+ 1 (h JE)2:29. 36
7011] 3829 kA2 F H  #)2:35.01
8[ 1] 62845 A m 01 (b H1)2:37. 88
912111345 b — 1 (L 1%)2:45. 50
[ 7] 223% ¥ "5 % 2 (K ) Ri5
[ 8115274 gk 3 (W B%) Ri5
[10] 8013 & we 3 2 (& fib) & 15
4 AN
[] LRy e |
19237y A 3 (o 10 kel
2 1206 1| % 1 A 3 (i 17)2:05. 65
31644 K F 3 &3 (OF & 1 %)2:08. 24
4 560% gy w3 (K B$)2:11. 14
5 623 & %5 7z 2 (fb [H)2:12. 79
612087 L # k3 (hp B7)2:13. 90
7 151K L g2 GL 13)2:16. 35
8 220k S Lmy 2 OK 7£)2:17. 20
BF 1500m TRRE Q)
[1#8]
108] 3124 " s+ 1 (% B 97)4:52.45
20 2] B34 & a1 (K 17)5:03. 65
304] 125" " o3 (- ) 5:06. 69
41 3] 61457\ ik 3 (b H1)5:07.15
5[ 5]11636f4 # & Kk 3 CF & i %)5:13.06
6[12] 8665 it mi 4 1 (& ji1)5:52. 67
70161140242 11 42 A 2 (B ) 5:53. 82
8[11] 1124 4F 1% &= 3 (T B5)5:58. 57

#1)56. 70
#1)58. 75
%) 59. 81
k) 59. 99
JH)1:01.25
R Ri5

17)52. 60
#$)52. T
[%)53. 61
17)54. 29
V) 65. 24
) 55. 31
1)56. 70
11)58. 75

0L
B9)2:05. 65

B o %5)2:08. 24

$7)2:11.14
H)2:12.79
B1)2:13.90
F5)2:16. 35
1£)2:11.20
M)2:17.37
%)2:17. 87
MH)2:18. 48
15)2:20. 20

%) 6:27. 40
M)5:10. 51
)5:16. 27
B5)5:29. 87
B5)5:47.13
) 7:16. 56
%) R 15

[15] 3754 i m3 G H B)KRiS



(28]

10 6] 9237 g A 3 (o

20 411201 F v | 3 (4

Z2IHhT vk

3[ 8] 4665% JiI % 3 (I

PA R P

41 1] 92275 w3 (h
5[ 2] 1010 A 3 (T
60 71120296 3" “fr g 3 (b
705] 8218 & " = 3 (&
810] 73740 s 2= 2 (+

DY ARy

9[ 3] 382%1 m
19237 % &3 (F
21201% F g m 3 (6
3 4664 I i A3 (I

S EAGH
5 101K A p s 3 G
6 12026 e 3 (i
7 821 = A3 (&
o2 (h

DX T

8 T37%h I

k) 4:32. 76
B1)4:33. 49
J5)4:35. 51
)4:35. 64

M43 B A EF)4:36.61

W) asan

5)4:16. 45
J7)4:29.10
K5)4:32. 76
B1)4:33. 49
JiE)4:35. 51
) 4:35. 64

BF 3000m R

2INT L=

10 4] 46655 JI| ik 3 (%
2[ 6] 924% 2 i 3 (f

30 9] 7374 I w22 (
]
’ 59 (

47 21 951 ik

vy g R

508] 382m m s #3 G H

6 511266114 s 2 (i
703] 820 R =8 k3 (&
8 71127248 Wik g 2 (b

RN -=- 0

9[15] 105% fk 7% i 3 (IT

15)9:14.76
J5)9:34. 30
) 9:49. 96
J7)9:51. 63
#7)10:01. 32
B4)10:02. 90
JI£)10:05. 60
BH)10:35. 04
k) 10:43. 52

100 1116381 A "5 +- 3 (OF £ th %5)10:44. 27

BF 110mHI[0.914m/9. 14m] T RREE (240)

[1#8) (  -2.9 m)

/Y avry

T07) 1488 i 56 th 2 (G
20 4] 3195 MW &3 (F
Ny 2%

3[ 3] 1500(;];:1:/45\}] & ft 2 (B
40 6] 3134 7 AL 1 (F

5[ 5]1124f¢ A 3= 2 (1L
6[ 8] 5087 Ji  #2 (K
70 2] 50T s 2 s 2 (K
4y N
e 9

1 2158 % 35 23 (K
825m Bw 43 (&
4865 & % % 2 (I
734%{%”2%@ 3 (1

460 5 i ¥l 3 (%
213 | B & 3 (K

7305 B a3 (F

14857 1 3% +h 2 (L

0 JdOo Gl W

k) 19. 30
T7)19. 34
%) 19. 53
#)19. 62
5%)19. 63
#7)20.15
) 20. 60

1)15.96 -2.0
JH)16.30 -2.0
5)16.47 2.0
#R)16.66 -2.0
)17.19 -2.0
¥)17.60 -2.0
#O17.96 -2.0
15)19.30 -2.9

PR oY

100141 619JF | " A 2 (f
110 9] 5608 " p 93 (K

12[16) 4138 46 521 (=
13[13] 114K 2 4 3 (T

140151 2210 85 i 95 2 (K

OP[12]1207 3% By 4= == 3 (%
[11] 2204 52 m 2 (K

(17115233 4 " p 3+ 3 (&

NG ATY

11012] 2204 85" 4 52 (K

12[14] 7515 (= g i 1 (£

13017] MTEE " &3 (T
14[18] 5047 %; FAHL 2 (K
151911655 5% 4 g ot 1 (F
16 [13] 5617;@#‘1: 3 (K

OP[10] 920%% I & 4 3 (

OP[11] 118% " me 3 (T
fie B2 (ff

£y 2y~

[16] 622 %

[248] ( 2.0 m)

10 4] 215 % 4 %£3 (K
20 5] 826/ Bw 43 (&
3[ 6] 486%’?2{;% % 2 (5%

40 3] T34y s w3 (&
5[ 2] 460% & Wi 4 3 (%
60 7] 213 1 55 3 (K
70 8] 730& 1% #f 5% 3 (-

vk 22Uy

H)4:49. 00
$7)4:52. 57
:)4:53. 58
k) 4:53. 74
P£)4:54.72
AH)4:57.02
) Ri5

%) Ri5

7£)10:46. 70
) 11:06. 67
k%) 11:45.16
$7)11:48. 18
%$)12:22. 16
7)12:24. 53
J7)11:08. 27
B)11:26. 06
HY) R 35

7¥)15. 96
/i) 16. 30
1) 16. 47
R) 16. 66
7)17.19
¥)117.60
R 17.96



BF 4x100mR TRREQ4)
[148])

A 7na hU

151 H B 3118 0" m3 37195 w3 3727 &k E3

2 (41111 BRO110635 1 25 me 3 11240 £ 5 2 11265 8 45 392
3[6]F & th (16518 1% faz 1650}}?;]4 Tl a2 1656 K & w1
4[8] RO 95T g 2 9227 k- 3 9244 s B3
5[7] 4 H (6115 (1 %Jr& 620078 Apib a2 629:p ”%@ﬂ

(311K (15255 ' " 3 15245F 1 52 6131521 kB B3
[248]
10344 %(1212%%6“ 3 120957;3’ i 33 1216[14{%;,{” B3
2[5 B ( 10445 ' 4 e 3- 106/1 4 ;30 1138 K3
3[6]i% B ( 460Eﬁ/&§ﬁf : 468’{]3” w3 48955 L T2
A[81Kk PE( 21Wﬂ| A3 21508 g 3 2135 W 3
571K BF( 515~ % k2 5564 % b3 5581 W k3
6 4]t N 729%%%% Twnyg3e 13475 % m 3 138K K 2

(214 (8255 (e 3 8240 1o 3 8201 B s 3
“we

1 b i 44.87

2 T b5 46. 41

3 Ik s 47.01

4K PE 48. 11

5% H B 48.70

6 K ijg 48. 88

7 1 Bk 49. 59

8 I K % 50. 39

rh
BZEZE 4x100mR TRRE QM)
[148])

1[3]/8 (1502 e m2- 1507 e m s 1 1508;}?% “‘f% Bl
2 (4] [ A96TH A alr 2 4058 £ mpl 402G vE Ak 1
3[5]h JR( 9550k o 2 909F B B o1 9N E i 51
4614 (62178 il e 2 63066 11 2 sk 1 637%"*’{’1@1
5071 PR e 2 13T % s+ 11360 % b 1
[24H]

103]7T BH( 146% 5 T2 13100 Aol 128K el
2 [4]%h B(12687 [ %2 1220%’%”’@}%1 122175 w5 =951
3[7]+ W T36K M 2 16084 oAl 75751‘@”%j<1<
4(5]K B ( 50255 A w2 5344:53{:* %Al 5312]*g;£*7¢$;1<
5[6]% H 5 342“’5’34?”jw52< 313 7 "y k1 316F vk B
6814 JEC 804135 A MmEr2- 87200 w4 e 1 875%%3“%5@1‘
0 AN

s 9

1 7C K5 49.75

2 Hf i3 50. 02

3+ R 51.49

4 K L2 51.63

5 | 173 51.92

6 it i 52.78

1# H %% 53.82

8 54. 30

BF fE.-:EJE iR B

/’714 L

10 2] 3% F {E;{gS & H %) 1mb0
2[ 3] 729& o 3 (- ) 1mb0

)

)

)
2127811 e 1 3) 48. 11

)

)

)

ThA TR

3NF H 23

7-7V7 FeA

110209 1L 4= 1£3

YvEb Vavy

16401 A i FE3
9237;%’;5’% X3

vEL VT
6230 5 3% %22
74 Ux

152248 5" ) 5 3

48.70
49.59
50. 39
50. 88
2)51.46
K1

—_ — — — ~— ~—

120501 B i #3) 44. 87

7I4 vagyk

‘ 116&553 BquB 46. 41

48155 A i 2 47.01

557w B j(?) 48. 88

73345 fir 2 & 3) 50. 44

YvEbL TV

80211 A w2

1500/~ Fk e #5£2) 51. 92
VHER A4k

4861 A& % %2)52.18

4/r7 A

6199 1 "k £ 2)57. 24
11226"m ™ 3.2)1:00. 07

)
)
- 9634 11 4 1 2) 54. 30
)
)

f}‘ 7’7

336 = 57 *in;t X2

571/7 PEY Y

8034 I B & 2

B



3[ 6] 3718 4

AT 1] 56303 # 43 (K
501011270 (1 i 5% 2 (bf
60 7] 46580 5 % pE 3 (K%
7011112608 7" & w2 (kf

8[ 511500/ 4k 4 2
[ 9] YFaus NAT X

875%,;&*}3 Fpg 1 (4
[14] 55945 & & & 3 (K

[ 4] 4639 1 =3 (%
[15] 869{: i1 (&

ER G

[12] 740% @1 g A 2 (h
[13]1502°F %~ n 2 (i
[(F—T ]

TIRAT I

[ 8] 381 % =13 (F

BT EIEHE R
104) 10613 ' B 3 (L
2020] 92577 & 'me g3 (R
3031 7290 ik Tm g 3 (&
41 6] 620{c gk Arwb a2 (b
58] 7304 f# # k3 (&
60 51 2115 0" 3% | 3 (K
1010 3112710 w3 (&
8[ 9112150« & #zz 3 (f

(1111230 % | 722 (b
[ 7] 3724 =7 x w3 (B
[12] 823% i & 1% 3 (&
[10] 100y %% sk 3 (T
[21] 1107 (8 58 A 3 (/L
[ 2] 5627 & k3 (K

[19] 46478 & 72 A 3 (4
[23]1104/1 1 52 th 3 (L
LT Ak

[17] 958%f (I # A 2 (h

(2511501 % NI " <1 2 (B
[27]14017% A" 4 + 3 (f
[18] 50375 W A 2 (K
(24111361 1 % 1 (1l
[22] 870k /'~ @1 (&

VEYIH N

[26] 635°F (I 14
(1671211 g

(28115051
{71'—7"*/]:”‘ y
[14] 7318 % "3 k3 (+

AFH varFk

T 1 (b
) ke 3 (F
& 5L 2 (JA

B3GR B B

1m45
#7) 1m4b
BH) 1m40
&) 1m40
B9) 1m35
%) 1m35
JE) 1m35
) 1m35
) 1m30
JE) 1m30
) 1m25
[%) Redk7a L

B) R 15

F) 6mi13 +2. 2088
J5) 5m82 +3.2/NER
R) 5m62 +2. 14AER
M) 5m43 +4.8/NER
) 5m33 +1.5
7E) 5m29 +0.5
B$) 5m28 +1.7
B9) 5mi16 +0.5
) 4m99 +3. 0/ ER
B5) 4m85 +3. 02 ER
JE) 4m77 +0.7
K%) 4m68 +2.6
%) 4m64 +0.8
%) 4m63 +2.2
) 4mb2 +2. 4N R
1
1
6

/A Enlt.\

2ER

) 4m32 +0.

JE) dm17 +2. 12088
) 4m11 +0.

N) 4m03 +2. TN ER
#7) 3m92 +3.943:%
) 3m81 +1.7

JB) 3m79 +2. 3/4NER
i) 3m62 +0.4
B) R 15

%) X5

) bm2b +2. 22 F%R

[13] 376w m 4 #3 G& H ) 4m72 +2. 9AF%

CREPAN

[15] 380 m 25 A3 (FF H B 4m66 +2. 6/2ER

BF faiix[5. 000kg] RA

10 411216107 2

R aadrAs

Ep 3 (f
20 8] 4599 (i 73 (&
3[ 2] 3M4E"I'E %3 (B
41 311521 Fk o = 3 (B
5[ 6] 13346 ko3 (h
6[ 5] 55745 1 5 &3 (K
7091 2127511 " 15 3 CK
8[10] 862& m E: &1 (&

D=
[ 1] 956/i1% wit<ut 2 (th

BH) 10m95
) 10m39
#7) 10m00
%) 9m05
) 8m98
37) Tm67
7€) Tm30
) 6m82
Jii) 6mb6

LR L
omo4 +0. 8
4m98 +2.0

LR L

FLERTE L
R L

FLERTE L

FLER7E L
3m92 +1.6

4m15 +1.6

3m82 +1.2
FLER7E L

3md7 +1.4

4m83 +1.7
FLEK7E L
FLEK7E L



[ 7114000 1 " e i 3 (B

[11] 128K 8 ak 1 T

[12] 120% 6 "#m 72 1 G
[15] 754J5 m~ ok %1 (-
FrVay

[13] 5114 4 "% w2 Ok
[14] 462/ 5 "% 0 3 (&

) 6mb1
B) 6m24
k%) 5m93
) 5m70
37) bmi1
%) Ri%

BFmiEsE 4 00m R

1041 106/ 5 ' ;13 GO
20 5] 7343 "% m 3 (+
YHER XA R

3[ 6] 4865 & % %2 (k&
41 3)1521 1 B 103 (8

[ 70 212511 1 3 (K
BFMiEGR 11

( +1.9 m)
10 5] 7345 1 & m 3 (£
20 6] 4865 A& % % 2 (&

30 41 106/ % 5 g3 (I
41 311521, F 4 =3 O

THhY rAAY

[ 7] 212 )11 & B 3 (K

£5)55.5
#7)55.8
£)1:00. 6
#)1:04. 6
TE) Ri5
OmHI[0.914m/9. 14m] RpE

R 15.8
f5)15.9
855 16. 1
22)21. 2
) Ri5

BFmiEsmD Embk RE

104) 106/ "o 13 (L

20 5] 7343 w3 (L
30 2115213 %K s 2 3 ()

40 1] 486%‘5’”;% % 2 (&
THY A =

[ 3] 21275 )11 & B 3 CK

B%) 1mb5
) 1mb0
%) 1m40
) 1m35
) Rz

BrmiEsaik faAix[4. 000kg] R

10 2115218 % e 2 3 (i
TxFy Ay AL

20 5] 7345 % w3 (k-

3 41 106/ % 5 g 3 (L
47 1] 4865 & "% 32 (R
THY BAAY

[ 3] 212 )11 & B 3 (K

%) 10m35
R 8m91
B%) 8m78
) 6m87
) Ri5

BF miEmk RE

10 4] 106/ 4 g3 GT

20 5] 73436 5 fom 3 (h

30 1] 4865 A& % 5 2 (%
Ny

41 2]1521/1 4k g 23 (i
[ 3] 2121k 1y 3 (K

85) 2108 1
02099 =
) 1689 =
(%) 13351
) Ri5

ZF 100m TRERE @A)

(#] (27 m)
1070 2319 4 oopy 1 (K
20 611187/ 1~ %y 1 (L

TA% EF

3[ 811819 & a1 (L

40 5] 615X up  p #E 3 (b

OP[ 4]11635% & = #i 3 CF £ ' %)16. 55

Y~ vxy

OP[ 3] 4751 o 3 (U

(2#8] (1.4 m)
7£)16.20 10 5) 43670 &'
%) 16. 35 R
) 16. 74
H)18. 02

IYNY wen
EEY
¥ 2vT

TAA AV

/

OP[ 2] 706fF "

(I
20 41165245 & % 2 CF % J %)14.76

40 3] 434k g w1 (R
5[0 6] 301% JF 5l (R
F)17. 24 6[ 8115584 57 1 %2 (i
TR o3 (&

7)) 14. 51

3[ 711639 = fg % 3 OF & 1 5)14.77

7)) 14. 94

H %)14.99

%) 15. 73
R 15. 83



(3#8] (  -1.6 m)
10 5] 625K & fx %2 (Gl
2[ 61156074 s 4m 3 (A
30 2] 945[ yi 3 2 (b
A0 7] 30355 B w1 (R
5[ 3] TIOK # ' % 3 (£
6 41 570/ 8 0 239 2 (K
70 81 859,11 # Zs 2 (&
0y N

[] TRy |

1 PING Tk

928 J5 4 f 3 (H
RID3 /v

843 1t &3 (&
545 A& % @2 (h
15354 w 7 2 (T
232§m Mmoot Z 1 (K

6 625K &

715604 0 43 (|

8 436 =& w1 (&

Gl N

FFES EF
e % 2 (f
AHTT Y AFK

H)14.29
%) 14. 50
J50) 14. 54
#7)14.70
JO14.75
#7)14.78
JE)17.03

Ji)13. 42 -1.
JB)13.59 -1.
R)13.85 -1.
k%) 13. 89 1.
1417 -1,
H)14.29 -1.
%) 14.50 -1.
5)14.51 -1,

OO OO © ©©

ZF 200m TREREGH)

2.3

6381

(1#8] (

m)
AX VoH

1 (4
8525k By

X A
KumEe @
2405 35 70 A 3 (K

10 7]
2[ 5]
3[ 6]
4350 w1l (R
53] 2514 3 Jil =2 (K
61 2] 631/ ¢ 4 % 1 (b
(3%8] ( -1.3
1 [ 5] BINT R if‘,g‘ % 3 (EI:]
84315 1 ik 3 (&
3[ 4] 71546 & % @2 (h
AL 7] 15547 [ #i 2 (T
5[ 61164251 7 A 3 CF

41 4] 435
2517 &2 )i
m)
9281 it
2[ 3]
1554 |

6 211560% 5 43
70 8] 9483 A" — 4z 2 (b

H)31. 31
fiE) 31. 52
%) 31. 61
7)31.73
#)31.91
H)31. 95

J5)21. 57
fiE) 28. 33
iR)28. 52
k) 28. 80
55)29. 47
%) 30. 04
J5)32. 35

ZF 800m TRRE Q)

[148] o
10 5] 4381 35 =& 7 1 (&

Yo% 37

20 6] 33 A x£=w2Ck H

3 2] 6364 m
40 1] 528 i

5[11]1558 % ®¢

1 (Bf
% 1 (K
e %2 (B

)2:42. 96
$5)2:46. 37
FH)2:49.50
$$)2:57. 83
[%)2:58. 89

610116585 12 4 1 (OF &5 th %)3:04. 95

70 911562% 1~ 33 (i
8[ 3] 840%%{’ 573 (&
OP[ 7] 5664 A& 2= g 3 (K

v |

[%)3:05. 71
MH)3:11.56
#7)3:04. 24

OP[12]1637/~ #k s 7 3 OF £ o %)3:30. 70

[ 4] 5790 B 0 %2 (K

[ 81184 /I wr sz 1 (1L

) R 15
50 Rz

-1.9  m)
9287 i sk fE 3 (F
8435 W ik % 3 (&
54 A : @2 (&
1535 % w722 (L
2321 m 1 (K
5683 it % 3 (K

A2 (T

[448] (
1[ 4]
2[ 3]
3[ 5]
4[ 6]
50 7]
6[ 2]
[ 8]

(2#8] ¢ -0.2 m)
104 6K "= 52 (-
2[ 2] 570/ 8 [ =392 (K
3[ 7115573 m & %2 (&
41 6] 5683 # #3 (K
50 31165741 Ff w1 CF

[ 5] 1534 % b 72 (iT
4y N
i 9

BE T4

£

=
i

19283 " s 3 (F
2 8435 W it w3 (&
3 754 A& = @2 (k
4 1554 m  #i 2 (T
51642 6 A 3 CF
6 M6k it = 52 (-
7 5700 Bz 2 (K
8 15604 i 43 (B

241

10 3)164100 5" 5= i
2[ 5113007 7 4 2z
30 4] 9495 "
41 2]

g TF T %

2020 3 ok ®

5[ 6] i
60 1] ¥

712%v&v7v¥2 ,
7012]
8[ 9]

7453 5 1
9[ 7]
10[ 8]
11[10]

8567 ©'5 e 2
12[11]

N7

N7

EHPHBEHAEHH

62417 Py By L 2

AN N AN AN AN AN AN AN N

SHi

V

49145 W
HA N EZ(j\(

ALY
251 i 2 1l
3026 k1 (F

J5)13. 42
/i) 13. 59
R)13.85
1) 13. 89
714,17
#7)14.90
£%) R 35

R 29. 51
#7)29. 74
) 30. 53
i) 30. 64
B %) 32.50
b5) R 15

J)27.57 -1.3
JH)28.33 -1.3
R)28.52 -1.3
15)28.80 -1.3
o %5)29.47 -1.3
729.51 0.2
#7)29.74 -0.2
[%)30.04 -1.3

B p 2)2:22. 11
H)2:27.56
J5)2:30.12
1£)2:32.42
IR)2:35. 04
J5)2:38.29
) 2:40. 98
J5)2:41.23
H)2:42. 37
£)2:42.50
TE)2:45. 82

H #)2:57.04



DD

1164150 7" =S (P B 5202211
2130076 7 b 1 (& H)2:27.56
3 949% " T = @2 (Fh JE)2:30. 12
4 28285 W % = 3 Ok ) 2:32.42
5 1125w w2 (- 7R)2:35. 04
6 9507 i ks w2 (b JF)2:38. 29
7 7453 B e 1 (& IR)2:40. 98

8 8567 5 mep 2 (4 fit)2:41. 23
t? 1500m REE
1[0 4] 24283 % = 3 (K 2£)5:08.75  12[ 81129048 i ”Hr fE 2 (b fH)5:57. 68
2[ 9] 949%@?1 Foa2 (P E)5:09.76  13[19] 2304 & % m 1 (K 7£)5:58.15
30 1113007 7% Thh Z 1 (& H)5:12.61  14[16]16533 M fn 75 2 (OF & & %£)6:00. 09
47 2] 3924 W & ;ES (# B ¥$)5:17.67 15[15] 56511 *ﬁﬂ 3 (K #)6:00. 75
5[ 3] 943@%77%1@%@2 (F B)5:18.33  16[17] 578/ 1 =% & 2 (K ) 6:00. 85
6111 714 5 w72 (+ R)5:27. 86 17[18]1643%’“’ z 53 CF & o %)6:13.43
705] 3B4m 1 i F2 (FE B B)5:33.25  18[20]1562% i ~ # 3 (W 1%)6:41. 81
8[13] 7081%\[%”@ %3 (+ FR)5:41.49  OP[ 7] 9273@21’" 3 %3 (o JE)5:13. 47
9[14] 438fi & ® 71 (R £)5:42.79  O0P[12] 929%7% g 3 (F JE)5:43. 77
10[ 6112864 f 7 923 (pf 1)5:44.10 [21] 634K 4 #i7¢ 1 (i H) X35
11010] 49145 W 12 % 2 (& ) 5:48. 25 [22] 70474 O kv 3 (& RN) R
ZF 100mHI[0.762m/8.0m] T RRi% (2%H)
[14#8]) ( —0 9 m) [2%8] ( -1.5 m)
10 4] 2525y % 22 (K P£)18. 45 10 4] 712}:57;;’”;; w2 (- R)16. 45
20 8] 9450 iy 4 w2 (f JE)19. 01 20 6] 133 (% 4 2 (k F17.13
3[ 5] 575¢% W =2 (K #7)19. 85 3[ 5] 610FH & ﬁ[z i 3 (i H1)17.98
47 2] 8834 1" u@g w1 (& fiE) 20. 47 41 3] 24055 v A 3 (K 7£)18.20
50 6]1557% M %2 (& %) 21. 30 5[ 7]1171%5*7;@ # £ 2 (1L $£)19. 09

[ 3]1188%4@’” n <1 (1L W) K 6 2112820 i~ 1 7 3 (ff 1) 19. 16

[ 7] 58240 s g %“ 2 (K 1) R 15 70 1] 8414 (1" 2 m 3 (& fiE) 19. 25

[ 8] 157)1 & & m 2 (T b5 &R15

1 712%’(5”;; w2 (- J)16.45 -1.5
2 M3 w2 (k F17.13 -1.5
3 610%”‘%’ ﬁ[& g 3 (i F1)17.98 -1.5
4 200% 3 v 43 OK 7£)18.20 -1.5
5 2524 ) a2 (K £)18.45 0.9
6 945[0 i 3 % 2 (F 50)19.01 -0.9
71171%3{5 # 2 (1L #19.09 -1.5
8128203 k" wi & 3 (4 #9)19.16 -1.5
T F 4x100mR T RIR M (248)
[148] o
13178 W% ( 15584 B g 22 15579 M & Zs2- 156175 1) 1 (315604 Jg #43)56. 26
2[4]F 17 b (1657 FF  we pel- 1642;@;4:% ”75/Wu3 163915 %= 413165244 A& @ #2)56. 51
3[6]ik% (43183 %’zzﬁ 43674 " 1 43507 g mr1 434%33‘ “"%k w1)57.36
457111 615 T 0 3 11716 A zzz 1191 F i F76 7 1 1163 % k 3¢ 3)57.48
5[71K PEC 2515 I m2 28089 0 a3 28205 a3 241 Fm #i%ke3) 60. 24



(2#8)

Ky g 7// LA THR

1041+ RO T6KE = g2~ 7073‘%”“;% i3 715%%1%@2' THE S 5% 22)53. 71
2[5] JEL( 9457 " 2 w2 946H R 2L 392 949%% T2 928{7@’ s 76 3) 54. 12
3[6]iT B (154324 {5;'_%2‘ 156 J5 A B82- 159 e 7522 15267 & 0> 2:2)55.57
4 (7] 48 H( 610H & 4 3 625713%1 @g;ﬁz 6385F T3 a1l 62400 vy 2) 56. 02
503]14: fBC 8AVE 1 m3 859N 44 2 852K W w2 843%@’”%33)56.22
681K UF( 5TTRIH 2 5685 e Ak %3- 575p B 32 570,08y 2392)57. 48
0 N
[] SRy . |
1+ N 53. 71
2 J5 54.12
3L B 55.57
4 i H 56. 02
5 4 A, 56. 22
6 fi 73 56. 26
1% B % 56. 51
8 It s 57.36
TFEFE 4x100mR R
103071 B ( 1530w 722 135 el 13605 e w1 1552 M #ij f1:2) 54. 78
2041+ RO TIBE G e 02 T K gl 7463@%?”7:%1< 259 % #02)56.12
3[71%F A (3541 0 #i 72 303 i ,%@@1- 301”34’2”% Wl 352%}14”-{5%452)58. 62
415]4 fE( 857“%’“@}%&2 887@%“ - 884 17 #iZl 850{’4%1% ,L i 2)59. 46
506]k B ( 5800 » A %2 5281 k5 ;g;;m- 52108 A #7 71 58240 s g #i2)1:01.08
6[2] K PE( 2533 11T &2 23280 e E 1l 230f E g m 1 2544 7 3£ 392)1:02.52
[1] A ) Ri%
XF Sk R
10 2111634 % & 34 3 (1L ) 1m40
2[ 4] 711“&?* 3 w2 (- R) 1m0
3[ 6] 946&& S EW2Ch J5) 1m35
4[ 8] 156K s A& 32 (T k%) 1m35
50 9] 709%&?‘@”’%@ 73 (+ ) 1m30
6 1] 567 ;@@%3 (K BF) 1m25
6 311556k fii 4% 7 2 (& %) 1m25
60 5] 241 K Fim #i%3 (K PE) 1m25
[ 7] 58015&7& ES N AON #7) 1m25
(1201191 £ 7+ 1 (LY %) 1m20
[10] 13645 & "% 32 1 (T B%) 1m15
[11] 858@#7;4;( B g2 (& i) EC8R%E L
[13] 25040 (1 % 782 (K PE) R8I L
XF ENEEE R
10 4] 610%;““ s g 3 (b i) 4m34 +4. 27352 4m22 +0.6
20 3] 159 % #2%2 (T %) 4m27 +3. 97852 4m08 +1.5
3[5] TM1% " 9 m2 (- W) 4m23 +5. 87352 4m22 +0.9
A0 7] M35 w2 (k R) 4m18 +3.6/052 4m10 +1.0
50 8] 2544 7 2 32 (K PE) 4m17 +0.8
60 6] 2326 m =1 (K PE) Am16 +2. 3/NERERSEA L
70110 1385 @ m an 1 (T 85) 3m84 +2. 34252 3m62 +0. 6
8[14] 577&%’5 EESRACS B7) 3m70 +3.3/AEREER L
[ 2] 859111 i =2 (& fiE) 3m62 +4.7/358 3m26 +0.9
[10] 1556?}2/@? m 7 2 (W %) 3mb4 +2. 27058 3m45 +0. 1
(12112925 17 % gk 2 Gop W) 3m48 +5. T/AERERER L
[17]1660%5{5”{ ;Ma 1 CF % %) 3m35 +0.5
(151119243 & %1 (Gl W) 3m31 +2. 32352 3m27 +2.0

9



[ 9114055 11" & & 2 (B
77!‘4’7‘1 =Ny

(13] 941 48 % 2 (F
[ 10128203 5 " & 3 (#h

[16] 57413#%@. e 2 (K

[18]1186/5 B R # 1 (1L

) 3m22 +3.0/352 3m03 +1.4
J5) 3m17 +4. 98082 2m62 +1.5
B) Redk7E L

7)) BRgxa L

W) R 15

ZF fiix(2. 7121kg] REE

1041 2535 0 #2 (K
Y IvX

20 6] 707~ % 3 (&

3[ 8]15615: JI| =3 (A

4[ 3] 70985 1 g w3 (£
5[ 2] 352 |1 ke 2 (B
6 1] 8534 iT M2 (&
T 711294% 7 # w2 (b
81211161 % [ &% 3 (1L
[10]1404 A 1) Meaz 2 (B
[ 5] 886 “F & =& 1 (&
[13] 52270 B .0 @ 1 (K
[ 9] BT% 8 4 g2 (K
(14111832 /11" w5 1 (1L
(F—7T ]

EFFg YAy

[11] 705/ %k ® #£3 (+

7£) 10m02
) 9m99
%) 9m20
) 8m99
77) 8m48
JE) 8m16
BH) Tm09
%) Tm00
N) 6m73
JE) 6m15
#7) 5m95
i) R 15
%) R 15

) 8m06

ZFMmiEsRR 2 0 0m R

( +1.2 \m,),\
104 TR % g2 (+
20 5] 156K it f g2 (T

3L 611561 JII w1 (& 3 (I

218
15 28. 5
(%)29.3

ZFMHFESER 1 00mH R

( 0.0 m)
104 TS s g2
2[ 5] 156 % & A& M2 (T

TAHAY VA

3[ 6115615 JII £ 3 (JB

#R)16.3
k%) 16. 4
(%) 16. 4

LFMIERRX EmBk REF

10 2] 156K 50 4 o5 2 GT
20 3] M # =2 (-
THAT Y h

3L 1186177 i £ 3 (A

%) 1md4
) 1m38
%) 1m20

ZFUiEmtk A2 7121kg] REs

10101561 5% )11 2 3 (i
20 3] TG 3k % % 2 (b

3[ 2] 1565 & 4 36 2 (T

T MIERRSR REF

108) T 3 2 (F
2[ 2] 156K & 4 352 (T

THAY VA,

30 1115615 )11 4£ 3 (&

BF BE RE
H

1[12] 124k g (ff
2[ 4] 4= m o (k
3L 71 T+ ®o(k
A0 1] 1 B (L
509] 9 g (R
6[ 5] b5k m (K

%) 8m68
R) 8m31
i) 6m74

P21 =
85) 2109 =1
%) 1932 =

) T4
) 64m
RN) 631
) 45
) 4R
B) 40

10



70 2]
8[ 3]
9[ 8]
10 [15]
11[ 6]
12[16]
13[11]

[14]

ZF

10 7]
2[ 9]
3 2]
417 1]
5[ 8]
6 6]
7[15]
8[ 3]
9[16]
10[13]
11[11]
12[ 5]
13[12]
141 4]

[14]

Bx

1[ 7]
2[ 9]
3[ 1]
41 2]
5[12]
6[ 4]
7[ 8]
8[ 5]
9[ 3]
10 [15]
11[ 6]
12[16]
13[11]
13[13]

[14]

2K e
3% B ¥
84 fIE
1571 73
61 H
167 & %
111 o
1454 o
=
1+ N
9 Ji
2K e
1T b5
84 fiE
6 1 H
1548, b
3% H W
167 & h %%
134 H
110 Bk
5K 2
12 ]
435 &
1454 2
=
1+ R
9 Ji
17T W
2K s
12 ]
4 i
84 fiE
5K By
3% H ¥
154, b
6 1 8
167 & %%
111 B
134 H
145%% 2

(K ) 38R
& B %) 32=

(4 JB) 24
(i M) 23 )
(e H) 9=

CF&EF %) 81
i WO o 2m
(i ) EEEk7E L

(+ R 97=m
(F Ji) 52/
(K MY

(T %) 45m
(4 JB) 27
(f H) 228
i} M) 21m

& B %) 11=
CF&EF %) 4R

(42 H) 13=
(1 W) 11m
(K ) 10=
(i ) 3=
(= H) 2R

(i M) EEgR7a L

(+ ) 16053
(F J5) 93
ean 85) 90
(K ) 80
(i B T1=

(& ) 66
(4 fie) 51
(K B) 50
& B ) 495
(e M) Adm
(i H)  31m

CF&E %) 2218
i Wo 13m
(& H) 13%
(g M) REEk7E L

11



